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Final check for high yelocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

V1 Transect: Drillhole 7 -
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V1 Transect: Drillhole 8 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) . 
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Final check for high veloCity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

V1 Transect: Drillhole 8 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero,' :-

there is no high velocity flow effect. -
V1 Transect: Drillhole 9 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 

V1 Transect: Drillhole 9 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and p~sitive. 

V1 Transect: Drillhole 9 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
V1 Transect: Drillhole 10 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) :-

V1 Transect: Drillhole 10 
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Final che ck for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
V1 Transect: Drillhole 10 
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Relationship between steady-state differential pressures squared and flowrate: 

I I 

If relationship is linear, with th~ ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V1 Transect: Drillhole 11 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify th.e presence of -
high-velocity flow effects (when the stope is greater than unity) 
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Final check for high-velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

V1 Transect: Drillhole 11 
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Relationship between steady-state differential preSsures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
V1 Transect: Drillhole 12 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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1.7 -,----------..,...---1-----.--1 ----------c--~--~-------;-~ -----,.'- --- --- ----, 

1.6 -t __ -+---I I091O(~(p2)) = 1.0024Io91O(Qt- 1.31 1-+--_-+-_---+ __ +-_-1--__ 0 1 

R2 = 0.903 

1.5 

1.4 

I 
I 

~~~~I~~- ~-~ 
~V~ -0 - t--- '- -1.3 --- ----+-----+---- I--

~/ . )--- I -
--,-

~/ 
1.0 ~~~~--~----~------~----+-----~----~----~------~----~----~I----~ 

1.2 

1.1 

2.25 2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 2.75 2.80 2.85 

I0910(Q) 

o log(O(P2)) -Linear (log(O(P2))) .:::--Linear (log(O(P2))) I 

I I I I I I I I , I . I I 



- 1 --
Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
V1 Transect: Drillhole 12 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly ~ero, :­

there is no high velocity flow effect. 
V1 Transect: Drillhole 13 
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Log-Log plot of differential pressures squared V8. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero-and positive. 

V1 Transect: Drillhole 13 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V1 Transect: Drillhole 14 
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Log-Log plot of differential pressures squared vs. flowrat~--used to identify the presence of 
high-velocity flow effect!; (when the slope is greater than unity)" 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
V1 Transect: Drillhole 14 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearl¥. zero:; 

there is no high velocity flow effect. 
V1 Transect: Drillhole 15 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) :_ 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, .~ 

there is no high velocity flow effect. ~_ . 
V1 Transect: Drillhole 17 
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Log-Log plot of differential pressures squared vs. fJowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
V1 Transect: Drillhole 17 
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Final check for high velocity flow effects: . . ', 
High velocity flow effects are present when the slope is non-zero..and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V1 Transect: Drillhole 18 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify th~ presence of 
high-velocity flow effects (when the slope is greater than u~ity) " 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, .. ~ 

there is no high velocity flow effect. _, 
V1 Transect: Drillhole 19 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and po.~itive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V1 Transect: Drillhole 20 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) " 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
V1 Transect: Drillhole 21 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero. and ~positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V1 Transect: Drillhole 22 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) -
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
V1 Transect: Drillhole 22 
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Relationship between steady-state differential pressures squared and fIowrate: 
If relationship is linear, ~ith the ordinate intercept nearly ~ero, 

there is no high velocity flow effect. 
V1 Transect: Drillhole 23 
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Final check for high velocity flow effects: ~ 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
V1 Transect: Drillhole 26 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and fl9wrate: 
If relationship is linear, with the ordinate intercept nearly ~ero, 

there is no high velocity flow effect. ' 
V1 Transect: Drillhole 27 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and p'ositive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
V1 Transect: Drillhole 28 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity). -

V1 Transect: Drillhole 28 .-. 

I -L/ I 

~r-
"'" , 

I -- -- - -- - -- --_.-

y = 0.5298x - 0.6047 I 
R2 = 0.9999 • - ../ 

V"' 
-- -- -.-_. .-

~ f---- - ,.- - - ~ ----

/ 
, 

./ 

/ 
~ 

- ,." 

V 0.93 

2.90 2.94 2.98 3.02 3.06 3.10 3.14 3.18 3.22 3.26 

10910(Q) 

o log(O(P2)) -Linear (log(O(P2))) -Linear (log(O(P2))) I 

I I I I I I -



o --~ -o 

/ / / / / II 11 I I I I I I I I I I 

1.12E-02 

1.06E-02 

1.00E-02 -c 
E 
U 
U 9.40E-03 --N 
ta 
f/) 

Q. 8.80E-03 
~ a --N 

c.. <f 8.20E-03 

7.60E-03 

7.00E-03 

750 

-
Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
V1 Transect: Drillhole 28 
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Relationship between steady-state differential pressures squared and floV\{rate: 
If relationship is linear, with the ordinate intercept nearly zero, " ". 

there is no high velocity flow effect. ~" 
V1 Transect: Drillhole 30 
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high-velocity flow effects (when the slope is greater than unity) 
V1 Transect: Drillhole 30 

0 

I091O(L1(p2)) = 0.4896Io910(Q) - 0.2859 V 
R2 = 0.9938 V 

/ 

Va 
V 

~ 

./ 
/ 

V - • 

V -
~ 

V , , 

I . 
2.94 2.98 3.02 3.06 3.10 3.14 3.18 3.22 

I0910(Q) 

o log(D(P2)) -Linear (log(D(P2))) -Linear (log(D(P2))) I 

3.26 



1.70E-02 

1.64E-02 

1.58E-02 

_ 1.52E-02 
s::::: .-
E 
U 1.46E-02 
u --N 

.! 1.40E-02 
f/) 
C. a 1.34E-02 --N 

Q. _ 1.28E-02 
<I 

1.22E-02 

1.16E-02 

1.10E-02 

750 

Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V1 Transect: Drillhole 31 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of ' 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
V1 Transect: Drillhole 31 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. ~ 

V1 Transect: Drillhole 32 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and po·sUive. 
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Relationship between steady-state differential pressures squared and floy{rate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
V2 Transect: Drillhole 1 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
V2 Transect: Drillhole 1 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. • 
V2 Transeet: Drillhole 2 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: . 
High velocity flow effects are present when the slope is.non-zero and positive. 

V2 Transect: Drillhole 2 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
V2 Transect: Drillhole 3 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the..-presence of 
high-velocity flow effects (when the slope is greater than uJlity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
V2 Transect: Drillhole 3 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, ' 

there is no high velocity flow -effect. ~ 
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high-velocity flow effects' (when the slope is greater than unity) 
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Final check for high velocity flow effects: ..-
High velocity flow effects are present when the slope is non-zero an~d positive. 

V2 Transect: Drillhole 4 ' 
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Relationship between steady-state .differential pressures squared and flow"rate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
V2 Transect: Drillhole 5 
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Log-Log plot of differential pressures squared vs. flow rate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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"' Final che.ck for high velocity flow effects: . -

High velocity flow effects are present when the slope is non-zero and positive. 
V2 Transect: Drillhole 5 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly z~ro, 

there is no high velocity flow effect. 
V2 Transect: Drillhole))6 ~N::~..,\tI"'J 
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Log-Log plot of differential pressures s~uared vs. flowrate--used to identify the- presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: , 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V2 Transect: Drillhole 7 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity)·· 
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Final check for.high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

V2 Transect: Drillhole 7 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero,' 

there is no high velocity flow effect. 
V2 Transect: Drillhole 8 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: , 
High velocity flow effects are present when the slope is non-zero an,d positive. 
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Relationship between steady-state differential pressures squared and flow-rate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

V2 Transect: Drillhole 9 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) .-
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Final check for <high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
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